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3. - 74
71 R ————————- FRACATGS It TepTeT LTS hn STehd] Ta.
Fungi do not perform photosynthesis as they do not have -------------
1. A1 [Nitrogen] 2. FARIBH [Chloroform]
3. F@ARIBI [Chlorophyll] 4. FARM [Chlorine]

7.2 QTett feetedr SergrunyefieT Thae st o ?

Which of the following is a monocotyledonous seed.

1. 1 [Rice] 2.9GM [Almonds]
3.1 [Cashew] 4,91 [Gram]
.3 ASTRIET 3fTepciTciie] GeTraT eI HRT &1 YR FeULT 3Tosegell STl
Which of the following indicat the male reproductive organ of the flower.
1.A 2.B
3.C 4.D
U4  gadid ST gE g e - ———————— TR STTITAT &HATAR S,
The level of humidity of the air is determined by its capacity to hold -------------
1. 31ifaT [Oxygen] 2. PIETSIIaITSS [Carbondioxide]
3.9 [Water Vapour] 4, :ﬂ?lﬁl\_rl:{ [Nitrogen]
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------------ of the following is a reason to decrease the soil fertility.

1. 7T | (PH) 6 Uel & fhaT 8 USlT ST 3RTUL. [Soil PH less than 6 or higher than 8]

2. RIS @ g hicd-191d AT TfdR [Excessive use of chemical fertilizers & pesticides]
3. Sl gruamer f==T 9 810 [No proper drainage of water] 4. 51T 94 [All of the above]
——————— HTthel HosTehgr UTUfl g &TR gkl alet \d WRTIehs lgradel ST,

----------- of the following tissue transports minerals & water from the roots to all aerial parts of the plant.
1. STerarteg=at [Xylem] 2. 41T [Phloem]

3.QIgl 1 37fOr 2 [Both 1 & 2] 4. T ATEY [None of the above]

—————— 2 JErsiig gl fRIamentiar g e Jaierel SReied MoHed ST,

------------- microorganisms are presentin the root hodules of leguminous plants.

1. ¢taret [Algae] 2. Rt [Fungi] 3. YIS~ [Rhizobiam] 4. s [Virus]
g febar T ugref Siefepres feehua TSt aTaRuaTe JUIT=AT UTLeRIeRUT Teeete e —— - —— i1 AT,

-------------- scientist has discovered the technique pasteurisation to preserve milk & other substances.
1. T8d8 IR [Adward Jennar] 2. ng‘tl'r%%l'\’ [Louis Pasteur]

3. ST $epfer [Benjamin Franklin] 4379 b [Robert Hooke]
EBG JTaSvT e NI PRUITATG] —————— T AR ITIR TR AT ST,

------------- of following chemical is used as an adulterantin turmeric powder.

1. @R [Acetic Acid] 2. fUgeeT BT [Yellow Phosphorous]
3. 9t gent [Metanyl Yellow] 4. BT PEHC [Calcium Carbonate]

1 TMC water means -------------
1. Teh B¢ UTUit [One cubic feet water]

2. Ueh o181 TFTRe UTuit [One lakh cubic feet water]
3. Ueh GIeT8 FRe UTuiT [One million cubic feet water]

4. Teh 3151 G-TRe UTull [One thousand million cubic feet of water]
<TeT febaT STl Yy —— —— ———— 3R fetfgel S

The unit of speed or velocity is written as ---------------

1. {5 /3dg [Km/s] 2. fier/Jdg [mis] 3.1 =Y. /frfe [Km/minute] 4.7 /fiex [s/m]

Which of the following co-relation is correct for work.

1. I Petel BRf (w) =T (f) x o= (s) [work = fx s]
2. 9T dhetel BRf (W) AT x A5 [work = v x 1]

3. 9T dhetel PR (w) 3R /d [work = distance/time]
4. 9T hetel BRf (w) I/ 3TeR [work = time/distance]
ST fIGege TRITed —— - ———- grdl.

There is ----------- between like charges.

1. QT 3MHYT [Always Attraction] 2. [T Ufyur [Always Repulsion]
3. 3R0T TR foeenm= [Displacement of negative charge]
4. 99 YR faema= [Displacement of positive charge]
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99 SRR ——————— SRAGEIT TSI STETATART FR&TT .

To protect from a lightning strike ----------------- are used on buildings.

1. faeyceeft [Electroscope] 2. lGd®aR [Electric Fuse]
3. af$aR&e® [Lightning Conductor] 4. I ATEY [None of the above]
ITIRI TR AUIRT IS g Wt eTden! e IGTexT 31T,

Heat Energy coming from sun is an example of of the following.
1.9g [Conduction] 2. JTMARTT [Convection] 3.192[1&2] 4. YIRUT [Radiation]

ST IS feoft 3RATT gareaT durgefiel 3icR ared d < AR d1ed. ATeld S —————— 2o 31
EAURIE

When a liquid is heated the distance between its particle increases and its volume increases. This is
called ----------------- of liquids.

1. STSYHa [Evaporation] 2. 9ARUT [Expansion] 3.W[Contraction] 4. Wrec [Reflection]

ST THHOIT fISATUDHT e —————— EEINIERIEEERIRE RIS
Only --------—---- of lightning reaches up to the ground.
1.5% 2.10% 3.15% 4.25%

________ 2 Ueflo Tafa 91eR SRAUTR 31TaRUT 3117 ; 3T tharet a=iurc T Uefimeda araesd.

----------------- is the outermost covering of a cell. Which is present only in plant cell.

1. 9efiueat [Plasma membrane] 2.9eflgd [Cytoplasm]

3. 9efiffcent [Cell wall] 4.99f} 37T [Cell organell]

fopue fomredt Isurd fmfor g ———————— 1 IR TIR BT, ST UGTAfel ST RAT dTa.

In the process of fermentation heat and ------------ gas is released due to which volume of the substance
increases.

1. 31TfaT [Oxygen] 2. PTeA S3TaATES [Carbondioxide]

3. RIS [Nitrogen] 4. AR SRANAATSS [Sulphur dioxide]

Tl AU therd Ueh g Uitk I ISTERUT 3718,

Which of the following is an one example of the voluntary muscles.

1.91c [Stomach] 2. 31TdS [Intestine] 3.%<d [Heart] 4. gl 30T UiT [Arms & Legs]
&RUT IRGUITATS! RGO IRRIR ST UTcIes o AT, AT Ufshdiell ——————— 3T FRUII.

To prevent corrosioniron articles are coated with zinc. This is called as ---------------

1. eI [Vulcanization] 2. Tecg rIRIeA [Galvanization]

3. JT9TRIIA [Pasteurization] 4. I T8l [None of the above]

——————— g RATC S Fafd AIGT et AT IR HET TG Dy 3T,

--------------- is the largest oil and gas research and production company in India.

1. 379 [OPEC] 2. 3.5 [ONGC] 3. 9el [BHEL] 4.5 [Isro]
g 9Bt - — - ——— - o Hraeft - —————— R U

During solar eclipse the shadow of the --------------- falls onthe -----------

1. Tgrit-gedtar [Moon - Earth] 2. gl -TgraR [Earth - Moon]

3. g - [Moon - Sun] 4. gefTefl—3afer [Earth - Sun]

TehT SloldhTa] Tehl VehaMed 256 Sl gl 3TFdiel dx T Slofdhra! IRaTRdT fohdl 31T ?

One oscillator oscillates 256 times in one second. What would be the frequency of that oscillator?
1.512Hz 2.256db 3.256 Hz 4.128 Hz
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GIDTET U1 AT GoT aTehe STV G 31T SoRYT ST,

--------------- scientist proposed the concept that there are invisible lines of force running from one pole
of amagnet to the other pole of magnet.

1.9, 1A [J.J. Thomson] 2. 3Tia=IiS T [Alexander Fleming]

3. gridiet s [Michael Faraday] 4. 3R ATHD I [Sirlssac Newton]

IUCAA (3mgeT) Inter University Centre for Astronomys & Astrophysics &l %l ——————— 7 foproft
Ry 31T

IUCAA (Inter University Centre for Astronomys & Astrophysics) is situated at ----------------

1.997 [Pune] 2. 998 [Mumbai] 3. f&eett [Dehli] 4. 9= [Chennai]

STTTfcren SFTRIREM fe1 g1 AT feaeft AT dhefl ST,

World Food Safety Day celebrated on --------------
1.16 3fideIsR [16" October] 2.16 ISR [16" September]

3.16 fsAaR[16" December] 4.16 STHaR! [16" January]

Itis the most plentiful elementin the Earth’s atmosphere.

1. TRIGISH [Nitrogen] 2. JTfeFs [Oxygen]
3. PETSHT 3fTaATSS [Carbondioxide] 4. g [Iron]

(A7 5 (@ p———
1. STRTfeTeh HIFETEhR WeIeHT [World Human Rights Organisation]

2. STRTfia 3TRIVT FEreHT [World Health Organisation]
3. STTfcTeh ST HT [World Heat Organisation]
4. AfgeT TR eeT [Women Health Organisation]

The instrument which records earthquakes is called -----------

1. AT [Sphigmomanometer] 2. §RIfAeR [Barometer]

3. 3eifiex [Odometer] 4. Rifiex [Seismometer]

TehT ATDATDhS DIl 9Gh I DIl HedT 3TTed. Iaeh g HedTd Thul AT 40 3RIT T yrdie THur He
134 ST 95 d HeT e Svadciiet thdh faett 2

Afarmer has few ducks and some sheeps on his farm. The total number of his ducks and the sheepsis
40, but the total of their legs is 134. Calculate the difference between the numbers of ducks and the
sheeps.

1.14 2.40 3.28 4.12

ForQ.32to 34

9. 32

9.33
9. 34

TehTaT YT 3T[ch 3Tooedl.

Find an odd man out.

22 30 36 42
1. v 2. 0 3. = 4. v
1.BDH 2.ABD 3.EJO 4.FLX
1.84 2.105 3.42 4.210




¥.35 241 35 ffci g arwrer g fifie wrer aieard fad! i e gige ?

What will be the angle between the hour hand and the minute hand at 2.35

1.192.5 2.132.5 3.226.5 4.140°
.36 fetea amadicier HraroTht vgur wiver fancft 2
How many triangles are there in the given figure?

1.28 2.22
3.23 4.20

ForQ.37to 39
HEATH{eTehT gUf TR
Complete the series.

9.37 12,14,18,26,38,7

1.50 2.52 3.62 4.48
U.38  271,261,252,243,7
1.235 2.228 3.233 4.234
9.39 B,C,E,G,?
1.K 2.L 3.H 4.
U.40 SRJH] 2/A5=29
4 A\ 5=41
2/A6=40
TR [Then] 4/A6=7?
1.42 2.48 3.52 4.62
.41 A9 S vy it ST &) T i IR ARINVET 34 7 SR 31TR IR T Aeigefiel Jafd aigM
T afd Hioar Al SNt et AT 2

The sum of the three consecutive odd numbers is greater than their average by 34 what will be the
addition of the smallest and the greatest number?

1.34 2.68 3.17 4.51
ForQ.42to 44
feeiear yataiqy nefurgrean Sl A gty s,

Find the missing term from the given alternatives.

.42 27| 64 1.15 2.1
2

1 3.12 4.20

9.43
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ForQ.45t047

9. 45

9. 46

v. 47

9. 48

e feeiedT IR b T 3T AT RIS &1 g JRATel! feeiedT UeeTdie e aife AT I
Refi= SrRafu=T STehcian e Wiy Faer.

From the four logical diagrams given below select the one which best illustrates the relation ship
among the three given classes.

1.@ @ 2. 3.@ 4.
QAT :

qroft , e

Animals , Goat , Tiger
3TgHGTR , BIRED , T@\‘QT
Ahmednagar , Nashik , Rahuri
Language , Marathi Speakers : Hindi Speakers
SR UehT AThfcreh TN

Ifina code language
4x7x10=81420
3x6x9 =61218

R [then]
10x8x5="7
1.201815 2.20410 3.201610 4.101620

ForQ.49&50

9. 49

9. 50

TN ST AR et i FasT.
Find the number from the given options that can replace the question mark.
17,18,19,36,7,54,23

1.38 2.36 3.21 4.45

69 [54(63

(3T wemufda 50 M 3™Ted™ (OMR Answersheet) Scax ufidbd Ues Hid 1 o 50 Tfaa Scar Aicardid. )

(a1 U IR A (Answer Key) €/ fGad www.drevramanexam.in JeRI5caR SUled glgel)
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